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' Directions : In question nos.
given words a meaningful a

select the option mmmﬁgm

‘20 1. Venus b7

4, Mereﬂry 5. Jupiter

(A) 4,2, 1,35
(C) 412038

21. 1. Pages

zmm

4. Books 5. Catalogue

(A) 2,5.4,3,1
: (C) 1,4,2,53

(A) cbcaa
(C) abeba

23. A series is men.
mme the w
MM ?
(A) QRVU
(C) QRVW

Bmm:s In question

24. qizx 60, 7, 200
) 117
(© 120

25, 49 81

4 49
25 16
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i -(A) 6 (B) 4
26. 2
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(A) 35 and 49
(C) 21 and 42
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M 51)0}‘3 A B, C, B,-

facing West. D is

- right of C but left of F.
Who is at the right end ?

A C ®F (© D

38, Statements : L Ravi has
I Nommmeclasshns
five pens.
Conclusions :
1L All students in the clm have pens.
IL. All students in the class bavc five pens

B 35. Y is in the East of X w o Sach.
: If Pis in the South of Z. Il Some of the students have more than five.
| of YisP? peni.
(A) North (B) v, r\‘.’.‘mly one student in the clui has exactly
s f (ol e ' ive pens.
i. | $©). SouthFast : ‘ (A) Only conclusion I follows.
' B6: TKie wilks 4 ¥o Srmhnd ' (B) Only conclusion 111 foﬂo@
towards her left anid walks (C) Only conclusion I1 folloy

{ (D) Only conclusion IV folwwﬁ'

| 39. Three positions of z dice are given. Find out

which number is found opposite the number 2
in the given cube.

she tums left again and wa
Here, she meets her friend c
| opposite direction and they st
| Which direction would she be facing

! (A) North ®B) South
(C) East

| erttm&. In question m ﬁi m# tw; 'm qoﬂ | %

I;mmmdmvouhm.iomﬁm&ﬂieﬁb' WeE ®»s ©3 !@1
statements to be true even if they seem fo be at ; )
variance from commonly known facts: You have to | 40. In the following figure O represents hard-

decide which of the given comlusiom, if any, fegaw ‘working, A represents sincere and [J represents
from the given statements. 1B intelligent. Find out the hardworking who are
37. s : . L Someb i 1 Sre 1 i ‘ intelligent but not sincere. ‘

Conclusions : L. Some cloﬁ!gg‘:m birds.~
II. Horse is not a cloud.

(A) Conclusion I follows.

I (B) Conclusion II follows.

(C) Either conclusion I or II follows.

(D) Neither conclusion | nor 11 follows. @1 ®2 ©3 M4
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| 43. Identify the answer figures from which the
piece given in question figure have been cut.
Question figure

E7

Answer ﬂgurcs
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e '\mwﬁmemﬂcompiemthepam in the

question figure 7

(A) 85 (®) 175 (©)
i | 44 Question figure
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neither truthful nor social worker.
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410 12930 SIS
(A) 45 (B) 46
Directions : In quasuoa-u
number/letters from
42. (A) AEBF
43. (AJ 121
(C) 153

mimng letmrfnumbar of the semu i‘wm l gxm
responses.
45. EDCBA, JIHGF, ONMLK, ?

(A) UVWXY (B) BGLQV
(C) TSRQP (D) DINSX

PPED CANDIDATES ONLY
46. 8,24, 48, 80,7

(A) 160 (B) 152
© 128 @) 120
47. 6:8:7:11:8:92
(A) 10 (B) 13 (© 16 (D) 6

48. From the given alternative words, select the
word which cannot be formed using the letters
of the given word :

‘EXAMINATION'
(A) EXAMINE (B) NATION
(C) EXAM (D) MINE

49. Arrange the following words as per order in the

1. STATION 2.

STABLE
3. STATIC 4. STAND
5. STANDARD
(A) 2,3,5.4,1 (B) 2,4351
(© 2.4.5 z,x

(m 4.2,3;5 1

'thﬁe at variance from commonly known facts.
You have to decide which of the given
conclusions, if any, follow from the given,
statements.
Statements : I. All E.C.G. machines are
computerised.
1I. Computerised machines are
generally accurate.
Conclusions : L All EC.G. machines are
= accurate.
II. Some of the ECG.
(A) The conclusion I is right.
(B) The conclusion II is right.
(C) Both conclusions are right
(D) Both conclusions are wrong.
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Fror s / s @y qfor |
42. (A) AEBF (B) CGDH

© LK ® MQNR
43. (A) 121 ®) 133
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1. ST 2. WER

5. 5O U4 3T 6 ﬁas

(A) 3,6,51,24 (B) 63,1,2,4,5
© 36,2154 (D) 364215

Fder ; qwa de 45 & 47 7 ¥, Ru au fee §

| A2 5 3500

- 46. 8, 24, 48, 80, 7

(A) 160 (B) 152
@ 128 (D) 120
47, 6:8:7:1:8:2
(A) 10 (B) 13 (C) 16 (D) 6
48, Frfafer fmedt 3 & 72 wex gfm ot R
,‘ %5 % ERT T JANT S W@ AT A7 A
i ‘EXAMINATION'
(A) EXAMINE (B) NATION
: (C) EXAM (D) MINE
49, frreaferfiam syt @ s # fow o @ &
Far ol ;
1. STATION 2. STABLE
3. STATIC 4. STAND

~ 5. STANDARD
(A) 2,3,54,1 (B) 2,435, 1

M) 4,2,3,51
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51. Ice glacier’s melmg is .1
linked to the rise W

52. Who is known for

(A) Jubilant Buddha (B)

(C) Baba Amte
§3. The civilian Airport of hig

(A) Tibet

(C) India
54. Genomic (DNA) studies in

completed recently by the scie

(A) SouthAfrica  (B) Cdie T

(C) China (D)
55. International Simon Bohwu qu

awarded to Aung San Suu Kyi by the

(A) Mauritius

(C) Venezuela ) }
56. BCCI conferred “Col. G Emhﬁt&nﬂ

Achievement Award” during 201210~

(A) Sachin Tendulkar (B) M. S. Dhoni

(€) VVSLlaxman (D) Sunil Gavaskar
57. Aquuah‘ydepichngPMZ'S is more hizardous to

(A) Archaeological Monuments

(B) National Parks X

(C) Botanical Gardens . '

(D) Old Men and Women -

Which of the following is not a”fﬁdmﬁhiﬂm
as per the Indian Constitution ?

(A) Rightto Education

(B) Right o Information

(C) Rightto Speech '

(D) Rightto Life :

Who is custodian of the Indian Constitution ?
(A) President of India

(B) Chief Justice of India

(€) Prime Minister of India

(D) Chairman of Rajya Sabha

60. Piped Natural Gas (PNG) is used for

58

2

(A) Mining (B) Welding

(C) Anaesthesia (D) Cooking
61. Greenpark Stadium is in

(A) Bengaluru * (B) Dehradun

(C) Chandigarh (D) Kanpur

Rowlatt Act 1919 was enéc;ed‘during the period of
(A) Lord Chelmsford (B) Lord William
(C) Lord Minto (D) Lord Bentinck

62,

14

AL AWARENESS

63. Panchayati Raj System was implemented first in the
pair of states !
(A) Andhra Pradesh and Rajasthan
(B) Assam and Bihar
(C) Arunachal Pradesh and Uttar Pradesh

~ (D) Punjab and Chandigarh

64. Human Environment Conference - 1972 was held at
(A)  Stockholm Paris

(C) Geneva (D) Australia
65. “Gold’ is mainly related to
(A) Local market (B) National market

(C) International market (D) Regional market
66. Bilateral monopoly refers to the market situation of
§B) two sellers, two buyers
seller and two buyers
%])) rwo sellers and one buyer
) one seller and one buyer
67. The economist who believed that unemployment is
impossible and that market mechanism has a built
in :egula:o%sysmm to mee.t auy ufs and downs

(A) I.M
(C) J.B. Say {D) Galbraith
68. Constituent Assembly of India was formulated on
%}Wumﬁ (B) Cripps Mission
£3 3
50) August Offer (D) Cabinet Mtssmn

69. Which of the following is an essential element of
the stiite 7

(A) Sovereignty (B) Government
(C; Territory (D) Allthese
70.. Which has become a legal right under 44th
Amendment ?
(A) Right to Education
(B) Rightto Property
(C) Right to Judicial Remedies
(D) RtghtloWork
71. By which Constitution Amendment Act, Right to
Preperty ceased to remain a fundamental right ?
(A) (B) 42nd
() 43rd (D) 45th
2 Gowmd said “Truth is the ultimate reality and it is
(A) Swamy Vivekananda
(B) Rabindra Nath Tagore
(C) M.K.Gandhi
(D) Radhakrishnan
73. Which of the following: mbes is associated with the
“Tana Bhagat” movement 7
(A) Uraon (B) Munda
(C) Santhal (D) Konda dora
4. Who founded the Naujawan Bharat Sabha ?
(A) B.C.Pal
(B) G.Subramania [yer
(C) Sardar Bagat Singh
(D) Rukmani Lakshmipath
75. The Narendra Mandal or Chamber of Princes was
inaugurated in 1921 by
(A) Lord Curzon (B) Lord Wellesley
(C) Duke of Cannaught (D) Duke of Wellingdon




51. fewam @y Foreemt e a5
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@ ® wgwﬁw—mwmmffﬁqw
(©) Frgwn ©) = g ?;fmmﬁ“ﬁiﬁ"“’mﬁgf'
56. drRE ¥ ety o, ¥, AWy anfan v | (© a7 (D) 7T
TEK” 2012 F AR fovwrat foay oy 7 Froie, SR 1 T 7T ey vt o e nd ot 2
(A iR ®) oo (A) 7 ®) By for
TAWEET (D) i (C) st afee (D) FfE= far
EE TR o C— 69. Fg-m@ﬂﬁmﬂﬂﬁﬁ##fm?é?)
gl (A)  TeaT (B) s (av=Tc
7 ﬁg e (D) & wsr
(C) ety gt & foy 70 gﬁﬁﬂmarmmm’ﬁfﬁmﬁm CER ]
(D) 7z e ok afimei & forg : (A) R
58, Wa’ﬁmiﬁmﬁwﬁ%wqam (B) &R &1 firame
TR 7 . (C) =i 39w 37 sifirmre
&) fEmasfmr  (B) T sfiaT (D) & sftmr »
(© wwE iR (D) e 71. fﬁﬂrwﬁmﬂmwﬁﬁwmmﬁr arfereTe
59 reftr s w5 aftwm a8 7 T Y- _ it
(A) e =7 Ty (A) adat (B) 42af
(B) ATa &7 e sy (C) 43 (D) 453
(C) 9T &1 gur w3y 72. fw gy o, " T A 2 e S 7
(D) T war 77 snmsy fé)) :3'12 i gg Tt AT i
60. mmﬂafﬁqﬁr}mmﬁmm% 5 Ry Lot SPTSRE S
(A) W g 73. g;gg_}ﬂwwﬁm AT S S ¥ A
(B) ¥ fag (A) wi (B)
(C) #smen & for (C) W ) e
(D) =7 (S5 =) ¥ forg 74, ST v w iy eanfie oy o 2
61. Méf’my% ’ (A) . 4t awr (B) 1. wamrog s
(A) i (B) TrgH © s RiE (D) ol s
(C) =ermm i (D) FTrgeH 75. 1921%#;@11:%,%%&«%:1“%
62. A= 072 1919 R s & v Ry vy 2 (L5 z
(A) @ Jrmrd m?mﬁmw (A) 1wt (B) T Faeeit
(D) wE3B= ©) JFawdae () T AT Afere
' 15 [PTO.
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76. Bmmmmm@ 1 togethe 90. Solids which conduct electricity af higher tempera-
‘ ture but not at lower temperature are called
(A) Triratna : (A) super-conductor  (B) metallic-conduetor
(C) Trisarga A (C) semi-conductor (D) insulator

. 77, Who was called L 91. Which one of the following has greatest mass ?
(A) 3 d
© K TR (8], peosca
- umaragupta. o L (C) neutron (D} hydmgdnnucleus
i thhblllmiﬁ l 1 the MA s chasnalits by
(A) Pachmarhi (A) 'fm@whcyofmnsmiuedsigﬁail
| ©) Mahemhmgm (B) velocity of transmitted signal
b 79, Which national hﬁ. (C) physical d:mmanoftelaws:oum
lioikamﬁaMaﬂsmﬁﬁ (D) size of picture tube '
i ‘ (A) NH4 | 93. The first computer mouse was built by
‘ (C) NH 10 1 (A) mmwbm (B) William English
© 80, The country where drip \ (C) Oaniel Cc
efficiently usedis : 94. Anor
(A) India - ® @
! (C) SriLanka (D) 3 [ B) ¢
| ! thhﬁfﬂwﬂal}awmg ! y | © -
(A) Blackbuck : )

95, The mwwwm‘ ﬁwﬁmam;r valid

at e

K (C) Gangetic dolphin
82. Of the following man-r

socially induced ? Ry v | W e A, gu o .
(A) Debris Avalanche : . | ©) 25C- ) .
Intrusion r . 96. mwmofphmynrhesminvolmmnm:m
- il of .

(A) cliemxcal energy into radiant energy

ﬂ%&mofnz;olhwmgmwis (B) ch ) into:mechanical
?A) Pm (B) Thyroid (C) solar energy into chemical energy
(C) Pituitary (D) Adrenals : | (D) mechanical energy into solar energy ‘
84. Thsscﬂo{;;f:lhgm‘:f uale |- A;:;k;@gfc:{i?;nmwhwhnhquiﬂmdw:n
A * & a is call
85. mnmnmamggl nadult 7 (©) sol (D) precipitate
itre ( 98, The antiseptic compound present in dettol is
(€) Five litres ({2} LA mﬂu (B) Euiamyieml
86. The t&ﬂh}g blood glucose. level in M in (C) Biothional (D) Cresol
mg/ 100 miis, | 99, As per the TRIPS Agreemen 1994, 2 o
?é; %gg (I% é‘?} R originating from a region with specific character/
87. Entomology isthestudyof A il co B REIEH G Re e iy
(A) Birds (B) Insects (A) Patent
 (€) Fossils (D) Fungi (B) Trademark.
88, Exobiology s seience tht deals with () Tadosetre:
(A) extinet forms (D) Gl (Geographical Indicator)
) r.emu.;w' 3 100. Which of the following crop cultivation is banned
¥, g) h&:mmmnehabuu ; bemeaen'blcsmme(:om of India 7 |
89. In radio-communication, the signals emitted by (A)  Lathyrus (Khesari) -

(B) Genetically modified brinjal
(C) Btcotion for export
(D) Btcotton for local use
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76 Tz, wvw AR firer i

(A) fer B) Fraf

(©) fret D) Fuff
77. ﬁwﬂ%ﬂ;&m&? :

(A) T (B) =

© wwwﬁgwﬁ (D) FEw

78. foF vl vy T T E 7 ,
(A) T Wcm %ﬁ&ﬁ
(©) =i D) Ftefaw -

79. m-mmwmmrmﬁ €114
TR 3 4163 & Sirear & 7 - j
(A) NH4 (B) NH2
(©) NH10 (D) NH6

80. 7 &w - & forw ¥ B Rt a1 v i
reraT & foar sy & 7
(A) = (B) s
(€) sismr (D) =

81, ﬁwi‘%-aﬂ#—%ﬂwmwa? :

(A) = (FAR) (B) s
(C) am efeafiver D) gy !

82, S?Wﬁﬁaﬁmﬁﬁm-ﬁmmwi% |
@) mEEE @) wewmads |
©) TeEE mi il ﬁ?# t

83.. P § bt st o vt o e
(A) s (B) 7 (areigz)
© dmy

84, g ¥z f 3 -

(A) Tl (B) ¥
(C) #zgar# (D) ey &

85 T A H wfere i s e g g
(A) = ier (B) i dfizx
() "z (D) & e

86. mﬁm&as&z#ﬁhmmnﬂomﬁme
(A) 200 (B) 160
© 100 D) 60

87. ¥z fmmy #

(A) aféray a5y (B) #rfar

(B) =7 oEt & oftery & g
(C) =g s ¥ S 3 vy
(D) ST S St & Ay :
89, W-Wﬁ,%&hmmﬁaﬁaﬂﬁﬁﬁa

e ;
(A) wHAM Hew ar
(©) armn'aw‘r_qr
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(B) mﬂ&aw

9. aﬁﬂwm.mwﬁqa'mmmﬁﬂgw

w#, ¥ wgem &
(A) sfi=res (B) =fas =
(C) sfarems (D) faem-srey

[ 9. vt & s s o 7

(A) T (B) ety
\ ©) = D) Ewg
92. T e it Pl 2
‘ () I wra it amafey
B e
(©) Tl ' T
D) o afermm = s
93, TEH FEL AT et v Ay 7
(&) TwECTTE  (B) i i
(©) siefae gux (D) 1= sy
94. ﬁmmamﬁﬁrmg
(A) et =ma 1 oy o y
(B)  FaTtery =y oy ey o )
(C) =m& & wamas iy iy or
D) (A) R (C) 3 7z

| ﬁ.ﬁwwmlg/cc%mgﬁﬁaaé%

(A) 0°Cw (B) 4Ccr
(©) 25°Cut (D) 100°C 7T
96.. ST T i ¥ oy fife 2
(A) T S a5 fafmolt g &
(B)  <rETEfE S = 2ifres g i
(©) &N 7if e rerrafives ot &
(D) =if it oy i gerf 3
97. ﬁﬁ-ﬂﬁwﬁmﬁhmaaﬁﬁﬁam“
FEAAE

(A) = B) T
©) Fem (atm) (D) sy

(C) =mEfmEraT (b) Fte

99. Frow FR-1994 ¥ sppe , Fafire sy /oy afiesr
mﬂ.&w&ﬁw&?ﬁ‘;ﬁaﬁﬁqaﬁm ¥ sfy
gt&atq}wm%/ﬂﬁm‘r%
(A) Yexery
(B) =& (3sarf) Feqi
(©) =T & e (T wide) ¥ e
(D) it o (iifers e e i

100. ﬁwﬁ&ﬁ«mﬁ%ﬁw%%m
AT g ffig 2 7

(B)  sTgatir: wurir
(©) Tt & forg By ity

(D) & de 9

(D) ®rr g & form By ey




=, ,—,._b.-. i ""-:

s S = y
R
. - @
105, If 4~ da— 1 =0, then value of

a’d-;]f 34-:“-*-1;

(A) 25 (aa 30 (C

@0 ®a © % -\cp} |
107. 1f 22 — 2 = 80 and x—yﬁ&eﬁ!ﬂlﬁm

of x Mj}lﬁ

(&)w‘ ' J('B) 3 (g},,’_.; (D5

TATIVE APTITUDE

R
nm. }fw—-a%+a%¥'»+e and a, b, ¢
are rational numbers, then a + b + ¢ is equal to
(A} (& @ r (©2 (D 3

y 1 ;
109, —— —~ i§
i 1-+f2""‘ AR

(A) a~b . ' (B) b-a
(©) 1 (D) 0
4 b_15 18¢* ~7a*
1])0.11" 5 5 ‘and 16 then 52 2200 is
squalto

(© 195

- 112. €| and C, are two concentric cim‘l'e's with

centres at 0. Their radii are 12 cm. and 3 ¢m.
respectively. B and C are the points of contact
of two tangents drawn to C, from a point A
lying on the circle C'l ‘i’“lwa the area of the

quadrilateral ABOC is
| @ @m em. (B) 12Vi5 sq. em.

(€ 915 sq.em. (D) 6415 sq. em.
MImdoazempeo_qvolyﬂmin«cenmmd

pmdueedmtersects dmeiicumc:mlcbf A ABC
at the point D. If ZABC =x°, ZBID =y° and

£BOD =2, then 15 =

W3 Bl ©2 4

H-AB2013




WRT 7
- O ot ot < & v s & ot
& | afz firrdt 8 fam o | frsvre s
oz § w ferenfiex, ot 5 & owran
BT 77 A7 5
(A) 350 f&

(C) 320 fir

(B) 400 fi
(D) 420 fir

- T S 10% S T T 20000 91
R 1 7 & s ¥ TR e e i 3 !

(A) T 12000 B 7 12100
(C©) =T 12200 ) T 12300

BT N

7+443
(A) -13 (B) 2413
(© 13 D) 3WVi-J7
. afE w2 e g (x-f-%}z-fqz—. é‘?‘ﬁﬁff
form s, & g & wanfiry wm & :

® +8

D) £

(4 +}

© tF%

05. af% a?—dq - 1 =0, A a° +;’§-+3a-§ FHN
¥

(A) 25
P e a2 157, @
S wamd
(A) O (B) a
¥ ﬂﬁ'ﬁ—-‘ﬂ:%ﬁ(;—y:&ﬁxmyiﬁm

N ‘

(B) 30 (© 35 (D) 40

(€) 2a (D) 1

(A) 2 ® 3 ©4 @S5

I
qﬁ:w_"w_'__] —Q‘V‘T'i‘bw-i—c aﬂ'{a. b, ¢
ufti gent # & a+b+c @A &
(A) 0 (B) 1 O 2 .03
1 i

9. 14200 [igba &

(A) a-b B) b-a
© 1 ™ 0
b_15 . 18c2-74

a 4
'“&b'sa‘he‘le B2 T

@i ®32 ©3i m 1

< P Q FH A A A B A © e afide wy
%lpwgﬁﬁmaﬁwmm,oﬁgm
TR ERE A, €, D fa ¥ 9k LAPB = 130°

R ZBOD =, @ x w1 A B

(A) 65
i) 195

(B) 130
(D) 135

| M2 C 3R ey, 0T Fam A g § | oy

P, smar. 12 8t ot 3 2t 8 | 7 C, WU
fg A G C, W @it 7 3t woef-Yarei ¥ et
ﬁgsﬁc%nﬁt%mﬂcmm%
(A) ;’“;—lzalf#q"r (B) 1215 aif &y

(€ 915 ot &t (D) 6JI5 af it

3. 1910 B ABC & oy sioeg i afdig 8

T TERAT AL A ABC % e @y fig D w
sfesfem @t & 1 aft 2aBC = 1o ZBID =y°
3ﬁrzaoo=zb.3h”;—x=

(A) 3 B) 1 (@ 2 (D)4

o F & o w




114. Rana drove 8§ miles due wes
north, then 3 miles
miles due north.
and final position is
(A) 13 miles
(C) 19 miles

115. ABCD is a par:

(D) area (A BC'P)-&-m*-N'

116. In A ABC and A DEF, ua@‘aﬂwé
Then one can infer that %
A ABC = A DEF, when
(A) £BAC=ZEDF (B) £ACB=ZEDF
(C) ZACB=4DFE (D) £ABC=ZDEF
117. The length of t common chord of two circles

of radii 30 cm and 40 cm whose centres are
50 cm apart, is (in cm)

(A) 12 (B 24 (© 36 (D) 48
118. Two chords AB, CD of a circle with centre O

intersect each other at P. ZADP =23 and

ZAPC =70°, then the £ZBCD is

(A) 45° B) 47°

© s7° (D) 67°

119. If the interior angles of a five-sided polygon are
in the ratio of 2:3:3:5: Sﬂwnﬂtemsure
of the smallest angle is
(A) 20°

() 60°

(B) 30°
(D) 90°

| 120. The difference of a number consisting of two

digits from the number formed by interchanging
the digits is always divisible by
(A) 10 (B) 9 (© 1l (D) 6
121. The number 323 has
(A) three prime factors
(B) five prime factors
(C) two prime factors
(D) no prime factor
122. A tyre has 2 punctures. The first puncture alone
would have made the tyre flat in 9 minutes
and the second alone would have done it in
6 minutes. If air leaks out at a constant rate, how
long does it takeboth the punctures together to
‘make it flat ?

(A) 14 minutes  (B) 35» minutes
(©) 3% minutes (D) 4 minutes

123. If 8 men or 12 boys can do a piece of work in
16 days, the number of days required to

complete the work by 20 men and 6 boys is
Ay s5i . (B) 6%
©) 8% @) 7%

124. A and B together can do a piece of work in
12 days which B and C together can do in
16 days. After A has been working at it for
5 days and B for 7 days, C finishes it in 13 days.
In how many days B could finish the work ?

-~ (A) 48 days (B) 24 days
(C) 16 days (D) 12 days

125. Three circles of radius a, b, ¢ touch each other

externally. The area of the triangle formed by

joining their centres is

(A)

(B) (a+b+c)ab+bc+ca

(C) ab+bc+ca

(D) None of the above

SPACE FOR ROUGH WORK
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(A) 13 #im
(C) 19 s

® 17
D) 21 dw

115. ABCD U wwiet S & | Bo &y O T T8 T f

e @ B BC=cp | At
(A) &% (A BCP) = S (A DPQ)
(B) 85T (A BCP) > St (4 DPQj
(C) &% (A BCP) < ey (4 DPQ)
(D) &% (A BCP) + e (A DPQ) =
' ETHT (ABCD)
116. A ABC ¥ A DEF %, Ap= DE #TBC = EF |
&t 7 fosaed Framem o w &
A ABC = A DEF, 7
(A) £BAC=ZEDF (B) LACB= ZEDF
(© £ACB=4DFE (D) sABC=/DEF |
17, B 30 3t siie 40 5 2@ 2 gt # gty
St i s 50 ot gt e 8, (v )
4 12 ®B 24 © 36 (D) 48
8. 0 %= a1 uF 3 #r 2 S AB, CD %-gadt
P ol ey § | ZADP =23, s
LAPC=70°, t LBCD &
(A) 45° (B) 47°
€) 3572 (D) 67°
119.!:%q’rwgm’fm%{%m‘rmw%aiazﬁw

2:3:3:5:5 % 9 & £, o qwd 91 @y 3w
T &

| 120. 3 sfa ot ot srea oM w7 it ) s e
astaar{nfﬁwr%ﬂ?aiatwﬁmw@mt
(A) 107 B) 9% (© 1% (D) 62
- 121. T 323 & FaTeT e W E
- (A) @ (B) gt=
© 7 D) =
i o @mﬁa-wglmmmmm
hﬁmﬁwwmwmwﬁﬁw
ﬁmémw&wﬁnnﬁ#ﬁaﬁ,aﬁﬁﬁw
ﬁameﬁ&m‘rkﬁqﬂtmﬁ?
(A) 1L fime (B) 31 fime
© 33 famz (D) 41 firz
123. smmlzmwmﬁmﬁwﬁmm
Elmﬂmﬁiﬁaﬂtémﬁnm{qw#

forry o it 7
(a) 51 B) 64
©) 8} D 7%

[ 124, A 3R B firerem o w12 e v et € o

B R C fiwr ac 16 77 & o 5@ | A g 3w
wz'sﬁnﬂum'zféwm%mc%a% 13
%Ewwﬁwwmma&ﬁmﬁﬂm
FTHGAT T !
(A) 48 fim (B) 24 fim
(€) 16 f&m D) 12

125, g, b,cﬁwuﬁw%?ﬁaﬁmgakﬁm#w
w@ﬁrmweﬁvﬁsﬂrﬁﬁﬁmwm
2 .

(A Jla+b+c)abe
(B) (a+b+c)Jab+bc+ca

(A) 20° (B) 30° (C) ab+bc+ca
(©) 60° (D) 90° (D) =9 # Fr¢ 73
T w1 & e wre

2]
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127.

128.

129.

131.

the circle in em is
(A) . 65
(C) 65

For every set of 19 k:lea E
I kite extra, free of cost.
discount of 10%, the n
should give in a sale of 27
integer is ’
Ay 3 B 6 A0 ‘
Arubystonewas .'
A sum of T 2400 was spent ;
with the ruby stan_e, Itwasadﬁtﬂsa_dﬁorsahat

(A) 55%.
© 755% Mk
A shopkeeper buys an article for T 450.
marks it at 20% above the cost price. Find the
‘percentage discount gweﬁ'byh‘m if i&ﬂ!—ﬁw
article for T 496-80.

(A) 8% (B) 9% (C) 1&9% (E} 12%

The area of a citcle is propo
of its radius. A small
3 cm i drawn within a larger circle of radius

5 cm. Fmdtherauonfthcmaimemnular [

zone to the area of the larger circle. (Area of the
annular zone is the difference between the area
of the larger circle and that of the smaller
circle). : ,
(A) 9:16 (B) 9:25

©) 16:25 (D) 16:27

132. A man invested 1 of his capital at 7%,  at 8%
and the remainder at 10%. If his annual income
is ¥ 561, the capital is ’

(A) T 5400 (B) < 6000
(€C) T 6600 (D) < 7200

133. The average age of Ram and his two children is
17 years and the average age of Ram’s wife and
the same children is 16 years. If the age of Ram
is 33 years, the age of his wife is (in years) :
(A) 31 (B) 32 (©C) 35 (B) 30

134. A man’s pension on retirement from service is

equal to half the average salary during last
3 years of his service. His salary from 1-1-1983
is T 380 per month with increment of ¥ 40 due
on 1-10-83, 1-10-84 and 1-10-85. If he retires
on 1-1-86, what pension does he draw ?
. (A) %205 (B) T 215
(©) T 25 (D) T 230
135. A person bought 76 cows and sold 20 cows at
15% profit, 40 cows at 19% profit and
remaining 16 cows at 25% profit and got a
profit of T 6570 as a whole. The cost price of

each cow is
(A) T 450 (B) T425
(C) T 420 (D) T 400

136. One side of a square is increased by 30%. To
maintain the same area, the other side will have
to be decreased by

) 238 (B) 7613%

(©) 30% D) 15%

m Ram travelled 1200 km by air which formed
(2) of his trip. He travelled one-third of the trip
by car and the rest by train. The distance
~ (in km) travelled by train was :
(A) 480 (B) 800
(€) 1600 (D) 1800

-

SPACE FOR ROUGH WORK




| 132, R S A et ot vt L w7 %, L s 8%

AT 10% e Frve Pt | e gy s s
g M 8 T561 7, argtd
AR E e (A) T 5400 (B) 6000
1 129, Wﬁ#m AB 491 CD, £ 9T & (©) T 6600 (D) T 7200
- B S -amll o o # | de AL, 4B : f A
N 2 3, 6 3t o 3 308 s 133. wsﬂrmﬁ:aﬁw’rﬁaﬂmmwwﬁ,ﬁ&
S g, Ay i maﬁwaﬂtaﬁaﬁrﬁaﬁmmwﬁ%m&
: A m#wzaﬁé,ﬁmiﬁw&ﬁw_(aﬁﬁ)%
| @ o5 ®) $V6s @A) 31 B 2 © 35 (O 3
| (C) 65 . D) g | 134 ﬂmﬁqﬁr_wqwmﬁhﬁ,wﬁim%aﬁq
128. 351 7 ge 19 T 3 E ¥ o o fdarom | 3 1 % 2herr st e 5 a6 v 8 T
T P 3T | 104 SE g 2 | I 1-1-1983 ¥ T'380 ofs wE 8, 1-10.83,
R A Rt afife T ¥, ez 1-10-84 71 1-10-85 T 40 #1 9 Fwrq | aft
qurfer e 7 3 1-1-86 3 31w o7 @1, 3t 3 Rt e
@3 ®me ©71 @3 foeret & 7 .
129, T o T g ¥ 2 1600 ¥ wtarmr ofy | (&) %208 P St
RT3 AT S A 0% % 2400 =7 g | (€ T225 (D) T 230
a9t & T 7800 ¥ faft & for fmfe fer | 135 wﬂrﬁs%mwaﬁﬁsﬁrzomﬁw%mw
| A f 10%-:&@%@@;,&%53@; 40 T 19% =19 o s 16 M 25% =T 9%
(A) 55% ®) 685% e %w‘a“ﬂ@am‘rssmwmgmmmww
© 75:5% ®) 80% S e
R 20% e i e &1 7 e g ©) 7420 (D) % 400
e gz s o o 7w a2 % 496:80 136, ﬁsﬁavfiﬁrt{aiﬁ&rm%w%ﬂ'{%l%mm
Rl _ a’rtﬂ%%ﬁmsﬁrwﬁm‘tﬂzﬁﬁ?ﬁ?
(A) 8%  ®) 9% (©) 10% @) 12% @) 2349 ®) 76k
131, Qﬁﬁmﬁmaﬂﬁﬁw%ﬁ%%h (©) 30% (D) 15%
;j;jmmﬁa%ﬁ%ma%ﬁmw 137. m%ﬁm%lzooﬁmﬁwaﬁ’ra&m%ww
ERG I8 AT o U S 2 .
92 79 & e 3 7 e s | (o (§) &1 5wt s & cm- et o @
ﬁ-ﬂmﬁﬁ%ﬁwﬁt@%ﬁ% ﬁ(W.W@IWWﬁﬁWﬁ{ﬁ
er ¥ v e i 2) it 3)
(A) 9:16 (B) 9:25 (A) 430 (B) 800
(€ 16:25 (D) 16:27 (© 1600 (D) 1800

T i & o v
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138. If secO +tanf=+3
then tan 39 is
(A) undefined
@
{C) considered as
®) V3
If sin (60° — 6) = cos (Y
of tan (¥ — @) is
both positive acute ai
W >30°).

@ F ® 0

139.

140. The value of
(1 +cot 6 — cosecﬂ)(l-t-m'é-»ﬁmm

is equal to
w1 ®2 ©0 Wm-l

If tan 6+cm8=2,theuﬁevnfuoi

tanf +cot”d (0°< O <90° n is an integer)
is

@2 @2 © m @O 2r
142. A pole ‘stands vertically, inside a scalene
triangular park ABC. If the angle of elevation of
the top of the pole from each corner of the park
is same, then in A ABC, the foot of the pole is

141.

at the |
(A) centroid (B circumcent

smﬂ cosf

143. f——-=—y-—. then sin@ - cos@ is equal to

(A) x-y (B) x+y
-y . yi=a

C D) .

i x2 -l-y : x2+y2'

144. g
60-

gm-

20

o

Emg Hindi Maths SSt Science
The above bar graph show the marks obtained
by a swudent in an examination. What is the
average marks obtained by the student ?
(A) 55 (B) 56 (C) 57 (D) 58
145.

'l?-’
T

3 & 5

Family member
Mﬂuwm“mm;ywmswme
following question.
‘Which type of family is the most common ?
(A) 2 members (B) 3 members
gC) 4 members (D) 5 members

The Pie Chart shows the expenditure of a country on

various sports during a particular year, Study the

graph and answer the question nos. 146 to 148.

146. 1f the total amount spent on cricket and hocky
!ogeﬂwtis?ﬁbjmo the total amount spent on

A -:'1 00,000
© % 250000

(B) T 2,00,000
D) T 3.00,000
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138, % sec6 +tan6 = J3(0° < @ < 90°
() sfoarfig &

(B) :};%

(C) 3 wry AT & ‘ e
D 32 -

139. 3R sin (60° - @) = cos (¥ —30°), &
an (Y - 6) & : (71§ i 9 aiic y 25 s
TTIME, 0 <60° 3 y > 30° & wrm

WFE ®o ©F @i

140. (1 +cot @ — cosec 6) (1+1tan @ +sec @) &
| &

(4) 1 B2 ©ae @ 4

141. 7% tan 0 +cot@ =2 ar
tan"@ + cot"@ (0° < 9 < 90°, n T quifer &) &
T :
A2 ® 2 © 2 @ »1
142, ot farmamg ﬁgmﬁwc&m@i‘q@&r
B 1 AR AT F EY ¥ v A ST A B
T AABCH @ FT o \
(A) Fz% W
(©) sade

(B) dfcds
(D) ez o

143. af ﬂ?:i“;_e, at sind — cos @ 7 &

(A) x-y (B) x+y
x-y y=x

© (D) .
¥ 4y? 24 y?

) | 144, g0

60 ot
.gw

20

0

i memﬁm

mmmﬁwwmwﬁmﬁ'maﬁa
femm g & | ot arr o st s ey 8 7
(A) 55 (B) 56 (© 57 () s8
145,

40

" 30
20
10

0-|—1

I
5

-
ta‘wma?rm%ﬁaﬂtﬁwmwwil
R arfr ofar f g 3 ¥ 7

(A) 2 "aer (B) 3 w=eg

(C) 4 s=eg (D) 5#aseg

W R Bt ok & S i st e et 2y o s

avfar 2 | ﬂﬁwwmﬁm-mmlaﬁla
Fwcd |

146. uﬁﬁﬁz@tﬂﬁﬁﬁmwwmt 20,000
&, ar & o< e e w2

(A) T 1,00,000 (B) T 2,00,000

(©) T 2.50,000 (D) < 3,00,000

H - AB 2013

% w1 % forg wma
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Study the following graph
nos. 149 and 150.-

144. X can complete a work in 80
100 days. They work Wﬁtﬁmmﬂ |
then ¥ leaves the job. The number of days taken
by X to complete the work is
(A) 50 days (B) 33 days
(©) 22 days (D) 44 days

145. If the length of each side of a square is
increased by 2 unit, the area is found to be
increased by 20 square unit. The length of a
diagonal of the square is

(A) 242 unit (B) 4 unit
(€) 442 unit (D) 8 unit ‘

146. A dealer sells his goods 30% above the cost

price but allows a discount of 15% for cash |

payment. Find the gain per cent..
(A) 15% (B) 9%
(©) 85% D) 10:5%

147. T 9000 is divided among A, B, C such that A
‘may get 5 times as much as B and C gets -Lof
whnrﬂam‘ingethuget Then & wil recgive

(D3
148. ‘ib“mgcnf&a;wom@m“ eqﬂlmﬂm

mﬂﬁphedbyﬁrodw@fﬁm unﬁ\hers The
numbers are

~(A) The problem is not solvable

(B) The data are not sufficient
(C) Any two numbers
(D) None of the numbers

149. A retailer buys 40 pens at the marked price of
36 pens from a wholesaler. If he sells these
pens giving a discount of 1%, wha:mttn:pfaﬁt
per cent ?

C(A) 9% (B) 10% (©) 10%% D) 11%
% w:ﬂ’ mperfmmismthmﬂmo_f“an

m’.v 0 m 55

(© 50 (D) 45

SPACE FOR ROUGH WORK




147. 7% &Y qem F ey T it afire

o smar 2 7 :
(A) 27% (B) 35%
(©) 375% )

148. 37 ff sr¥en e 9
T e 22 i s
@A) 2% ® 2%
© 334% @) 373%

ﬁmmwmﬁa&tmﬁmlﬂ’ﬁ%ﬂ*

2000 2001 :soo;‘fm 2000 2005
149. 2001 ¥ 2002 7 o F afive it o
(A) s0 ® 33
© 7% ) oy
150. % s o st (2000 - 2005) Fdhw wad
fommar & 7
(A) 5 @B 3 (@© a4 D) 2
mgﬁaﬁaﬁuﬁﬁﬁq
144. X o 3 2 80 et 3 v e £ i Y 100
ﬁwﬁlamﬁwaﬁﬁamm'ﬂfﬁéﬂzﬁﬂ
Ymas‘te’lﬁﬂr%u{mmaﬁw_mﬁ%ﬁq
ot R forg am 2
(A) 50 fer (B) 33 fim
(C) 22 f&m (D) 44 fm

| 146.

147.

145,

ﬁ%ﬁﬁﬁaw%#ﬂzmmﬁm
ammﬁmww%rﬁ%@ﬁmﬂ
&7 ard &

(A) 242 wos (B) 4 TFF

©) 42 v (D) 8 g

@mmmmﬂwho%mtw
%ﬂm%.vﬁmw%ﬁqls%%ﬁqzém%l
a1 gftr s ifng |

(A) 15% B) 9%

©) 85% D) 10:5%

% 9000 A, B, cﬁmmz&mﬁﬁmﬁs
ﬁsmf&%sﬂrcﬁmwfﬁ%a’mmﬂ

. ﬁammﬁ%la‘rcaﬁﬁm’ﬂrﬁrﬁﬁiﬁ(tﬁ)?

- 148,

149,

150.

(A) 1000 (B) 3000
(€) 5000 (D) 6000
.ﬁéwaﬁwﬁaﬁ,ﬁﬂnﬁ%qaﬁ%ma%
M%m%wm%mﬁlm
#h

(4) S ST e AT b S
(B) SRt wafy g2

(©) = +fr 3 sreans

(D) ¥ AT Fear =g

mw—ﬁﬁ,mﬁﬁmamﬁ#aéﬁ#
aﬂ%ﬁrﬁwerwwﬁam%rﬂﬁ'wsa%l%ﬂ%w
&amﬁ,a‘tmsrﬁfamﬁmm@m?

(A) 9% (B 10% ©) 104% () 1%

U qHERE e 4y G TF I M Y
15ﬁwﬁ/w.aﬁan%|aﬁmf§afﬁaﬁém%
- et § | 9 - M 180 fivt o

-mémmwdamqgwwtlﬁm

M F =T (et /o )2
(A) 60 (B) 55 © 50 (D) 45

T w & fong e




Directions : In question
the four alternatives,
expresses the meaning o
in the Answer Sheet.
151. Garrulous
(A) talkative
(C) vocative
152. Tinsel
(A) tinkle
(C) tin
153, Labyrinth
(A) meandering
(©) pacing

Directions
word opposite in meaning to the
it in the Answer Sheet. _
154. Cordial : b,
(A) fast (B) heartfelt
(C) friendly (D) hostile
155, Instinctive

expreuuthemnh:g oftheldsomwm’enﬂ mark
it in the Answer Sheet.

157. Hard work pays in the long run..
(A) always
(B) over a period of time
(C) indefinitely
(D) never

N

158. I felt a fish out of water among the lawyers.
(A) special (B) happy
(C) uncomfortable (D) proud
159. The Cauvery water issue led to apple of disco
between the two Governments.
(A) cause of anger
(B) cause of hatred
(C) cause of quarrel
(D) cause of animosity
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160. The construction remains unfinished and the
workers have let the grass grow under their
feet.
(A) grown grass all over the lawn
(B) gone on a luxury tour
(C) delayed doing the work
(D) demanded more benefits

161. The police smelt the rat behind the death of the
girl.
(A) got very much confused
(B) identified the cause of death
(C) suspected that something is fishy
(D) jumped to the conclusion

D:Wctims:—‘in-qmnms..lﬁz to 171, a sentence/
part of the sentence is underlined. Below are given
alternatives to the underlined sentence/part of the
sentence at (A), (B) and (C) which may improve the
sentence. Choose the correct alternative. In case no
improvement is needed, your answer is (D). -

162. The disparity of the GDP between the rich and
has broadened in the last “some

(A) have widened in the last some decades
(B) has widened in the last few decades
(C) have broadened in the last few decades
(D) No improvement

. How, is bcgyend ‘ lmdemmndmg, the boy
Could fall i ditch.
- (A) How the b&y could fall into the ditch is
beyond my understanding
(B) Eeymﬁmy understanding is how the boy
\ fall into the ditch
] {fﬁ eaqldlhehuyfa.llmmthedimhts

The: piumer spacecraft went beyond Pluto. .
(A) made its way past

(B) went across

(C) went after

(D) No improvement

‘The firm buys frozen seafood in bulk, packs it
into smaller pouches and then they sell them to
the local grocery stores.

(A) it sells them

- (B) sell them

(C) they sell the pouches

(D) Noimprovement

165

by

28




166. The learners are intended
home.

(A) are meant (B) a
(C) are expected W

167. Fu; invention of superco:

ble to make Japan supercede
computer technology.

(A) will make Japan
(B) will enable Japan
(C) can make Japan [
(D) Noimprovement
168. I could never repay the debt 1 ‘owe to my
place of study.
(A) AlmaMater  (B) Motherland
(€) Place of worship (D) No improvement

169. She cries all the time.
?A} mostly everytime
3) Day in and day out
®) pretty frequently
(D) No improvement
170. For a week last month, the team’s 20 players
were stranded because the Government-issued
passport is not up to international standards.
(A) Government-issued passports were mnot
up to international standards
 (B) Government-issued passports are not up to
international standards
(C) The passports issued by the government
were not up to international standards
(D) No improvement

171, Since July 2008, our customers will be able to
© use the ATM network of BBY Bank, the bank
that was acquired by us during that year.
(A) have been able to use
(B) were using
(C) will have been able to use
(D) No improvement
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at | Directions : In question nos. 172 to 178, out of the

 four alternatives, choose the one which can be substi-
tuted for the given words/sentence and indicate it by

bhelcemng the appropriate oval [@] in the Answer

Sheet.
- 172. One who is unaffected or indifferent 1o joy, pain,
pleasure or grief
£ (A) Tolerant (B) Resigned
I (C) Passive (D) Stoic !
l ——
. 173. A person who is greatly respected because of
‘wisdom
(A) veracious (B) vulnerable
_ (C) venerable (D) verger
174. An excessively morbid desire to steal
(A) stealomania (B) kleptomania .~
(C) clefiomania (D) keptomania
175. Prohibited by law or treaty from being imported
or exported '
(A) contraband (B) smuggled
(C) counterfeit (D) forged
- 176. Intentional destruction of racial groups
(A) regicide (B) genocide
(C) homicide (D) fratricide
177 A person in a vehicle or on horseback escorting
another vehicle
" (A) Navigator (B) Escort
(C) Outrider (D) Security
178. A person specially interested in the study of
coins and medals.
(A) medallist (B) coinist

(C) . numismatist (D) numerist
Directions : In question nos. 179 and 180, there are
four different words out of which one is correctly
-spelt. Find the correctly spelt word and indicate it by
blackening the appropriate oval [@] in the Answer
Sheet.

179. (A) humorous
(C) humorus

(B) humourous
(D) humourus

180. (A) narcisism . (B) narcissism

(C) narcisim (D) narsisism -




Directions : In question nos. 181
two brief passages with
Read the passages carefully
answer to each question
and mark it by blackening th
the Answer Sheet.
pr G
(Question Nos.
Pidgins are languages
mother tongues and that are uses
of communicative functions, They
mixture of languages and have a li
and a simplified grammar. Pid
of communication between
unintelligible Tanguages and ma;
in multilingual areas. A creo
pidgin when the pidgin becomes
of the community. To cope w
expansion of communicative functions the voca-
bulary is increased and the grammar becomes more
complex. Where a creole and the standard variety of
English coexist, as in the Carribbean, there is a
continuum from the most extreme form of creole to
the form that is closest to the standard language.
Linguists mark off the relative positions on the
creole continuum as the ‘basilect’ (the furthest from
the. standard language), the ‘mesolect’, and the
‘acrolet’. In such situations, most creole
vary their speech along the col
" also competent in the standard English of ﬁ;ﬂn'
country.
181. A pidgin develops in a s:mum ‘when
(A) Different and mutually unintelligible
languages exist side by snde )
(B) A creole becomes the mother fag&e of a
linguistic community
(©) A language with restricted vocabulary
undergoes an expansion in grammar and
vocabulary
(D) Two similar languages are mixed to create
‘a new language

182.
becomes a creole when
(A) It ceases to be a means of communication
(B) It becomes the mother tongue for a new
generation .of speakers
(C) Its vocabulary undergoes some kind- of
change
(D) Two or more languages are mixed with an
existing pidgin

H - AB 2013

‘According to the given passage a pidgin

‘Samuel Harris, and myself, and Montmorency. We

~ extraordinary fits of giddiness come over him at’

‘then George said that he had fits of giddiness too; and
“hardly knew what he was doing. With me, it was my

183. According to the passage, a creole continuum is
(A) A linguistic term for the mixture of more

than two languages

A scale’ which measures the linguistic

competence of the speaker

A scale in which the proximity of the
creole to the standard la is

~ measured

A record of the continuous history of a
creole

(B)

(O

(D)

184. According to the passage ‘basilect” means
(A) An impure form of a creole
(B) A form of creole which is furthest from the
standard language
A form of creole which has an extended
vocaba[aq
A fgtmgfmtc which is very close to the
standard language
185. Find qutawmgig the passage which is opposite
in meaning to the word — ‘Simplified’

(©)
(D)

(A) Complex (B) Expansion
(€) Restricted (D) Consequent
2 gﬂsmsn ]

(Question Nos. 186 to 190)
There were four of us — George, and William

were sitting in my room, smoking and talking about
how bad we were — bad from a medical point of view
1 mean, of course.

We were all feeling seedy, mﬁ ‘Wwe were getting
quite nervous about it. Harris said he felt such

ﬁmes that he hardly knew what he was doing; and

liver that was out of order. T knew it was my liver that
was out of order, because I had just been reading a’
patent c;—pxll circular, in which were detailed
the vari 'mptoms by which a man could tell when
his liver was out of order. I had them all.

It is a most extraordinary thing, but I never read
a patent medicine advertisement without being
impelled to the conclusion that | am suffering from the
particular disease therein dealt with in its most
virulent form. The diagnosis seems in every case to
correspond exactly with all the sensations that I have
ever felt.




186. The four felt down out
(A) the room was too smok:
(B) they could never read
advertisement
(C) they thought they we
(D) they had experienced a
thing
187. Whenever the speaker ‘
(A) he suffered from an e
_ giddiness g L
(B) he felt sure that he had a |
(C) he felt the urge to smoke. .
(D) All of the above I !
188. The author of the above passag e seems to be
(A) fits of morbid depression without real
(B an abnormal anxiety about his health
{C) melancholia

pessimistic attitude to life
189. Harris was troubled by
(A) asymptom of vettigo
(B) garrulity
% tribulation
) frailty

~virulent is o :

(A) fantastic (B) vital

(C) viral (D) hostile
Directions : In question nos. 191 to 195, some parts of
the sentences have errors and some have none.
Find out which part of ‘a_sentence has an error
and blacken the oval [®] corresponding to the
appropriate letter (A, B, C). If a sentence is free from
" error, blacken the oval corresponding to (D) in the

191, Iwhistled thrice

(D) an unnecessarily dark, gloomy  and

190. The word which is closest in meaning to

| 193, Atcertain seasons, some areas on Mars
(A) (B)
is subject to strong winds. No error.
© (D)
194, Asanartist  Raju is as good,
(A) (B)
if not better than Ramesh. No error.
(©) (D)

195 The scientists could not hardly
T ®)
complete all the experiments. No error.
(© (D)
Directions : In question nos. 196 to 200, sentences
are given with blanks to be filled in with an appro-
priate. word(s). Four alternatives are suggested for
each question. Choose the correct alternative out of
the four and indicate it by blackening the appropriate

| oval [@®] in the Answer Sheet.
| 196. Google is one of the most popular search

engines, itis by the internet users.
(A) utilized (B) effected

(C) examined (D) flabbergasted
197. Raj was tired of Puja’s approach, so
he asked her to make her final decision by that

evening, _ i :
(A) silly-willy (B) dilly-dally
(C) wasting (D) dilly-nally

198. Riais _____ at speaking languages. It is
difficult to only one puppy for
animal shelter.

(A) adept, adapt (B) adapt, adapt
(C) adept, adopt (D) adapt, adopt
199. School days are considered to be the best
years of your life. When my year
in school began, I began to think of those past
enjoyable days and of my future also.
- (A) penultimate (B) absolute
(C) integral (D) termination
200. Being » the judge gave a favourable

(A)
with full might and raise my arms
(B)-

towards the sky.  No'error.
r (©) (D)
192, Science and !‘e[lglOﬂ

(A) ]
are both necessary for man and for their
Bl
outer and inner self respectively.  No error,
@y - (D)
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verdict.
(A) sagacious (B) pugnacious
(©) malicious (D) tenacious




Directions : Each question or inc
is followed by four alternative
or completions. In each case, you

& : 53 g9 saaT aee St waE & AT =R
IH A TF FAT qee ¥ | o2 mn
I T O S T ¥ T g o e e

to select the one that correctl :
or completes the statenw:t ST T BT AR AR A W'qﬁw &
appropriate oval A, B, C or D by Bl Ball- | S9IT SVEEK @ A, B, C a1 D & wTe /AR
point Pen against the question concerned in the | afer-até= ¥ & H1e (@] &7 £ |

Answer-Sheet. (Femfim seimadl & fou @@ averew

(For V.H. candlamseonwpmmwmh fafi gy wren fawam = )

blackened by the scribe.)
= @ ™ s & s &

The following example illustrates the manner in T fr - N ﬁ?{ ;
which the questions are required to be answered. e ;¥
Example : gy . ‘“1' " ; : !
Question No. ‘Q’ - | A R g AR R # A e fe- e
Out of the four words given below, three ate alike in | vy g5 srerr ey 1 % | 3 ot faey o1 At
some way and one is different. Find the ODD word : A ; ' ' a

(A) Girl ' A e

(B) Boy ; (B) F=ET

(C) 'Woman (© =fesn

(D) Chair ®) FH

Explanation : In the a:mt'; example, thhiswbﬂ:;: T ¢ H9 F IATEOT § G I T £ A
answer is ‘Chair’ an is answer has been s S g : L e
suggested at ‘D’. Accordingly, the answer is to be ‘W . ﬁ i o tl :aﬁ :‘? ;%:ivﬁ:
iridicated by blackening [@) the oval by Black/ | T W ‘D’ ¥ AVERR WW @ He/
Blue Ball-point Pen in column ‘D’ against Question | STH-91Z U & quieal FTel [aw] &% Jo A

No. ‘Q’ in the manner indicated below : m&&%mﬁmm%:
Question No. ‘Q* LG LA
[A] [B] [C] (] - 1A] [B] (€] @]

‘| There is only one correct answer to each question. b T € T IR R | EIE‘ K
You should blacken [@] the oval of the appro- | F1o¥ 3G A, B, C a1 D ¥ ¥verFR @@ i
priate column, viz., A, B, C or D. If you blacken | e [@] T & | af% smy faeft oo ¥ wmy v
[ @] more than one oval against any one question, | & 3fteh YUSTEHR A Hl T (@] F1 ATIH FoT
the answer will be treated as wrong. If you wish t0 | == sy vy | af s foeft e | w

cancel any answer, you should completely erase 3 S o
that black mark in the oval in the Answer-Sheet, and e f’i @ ;ﬂq’ i 5 ﬁa;? Sﬁ; e '(;Qﬁ' &
then blacken the oval of reyised response. T G A T T §Y

You are NOT required to mark your answers in this ¥ & fom anm Sakll

= | Booklet. All answers must be indicated in the | T eI F s s IR T G A E |
o LAnswcr-Sheet only. TR g - § 2 ¥
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